
 Subtraction   

Worksheet-4 

A] Choose the correct answer. 

1. In a stadium there are 25000 seats. On Sunday 19789 persons came to 
see the match. How many seats remained vacant? 
 
a) 5111                          b) 5211 

c) 5311                          d) None of these 

2.9000 − 6545 = ________ 
 
a) 1455                            b) 2455 

c) 2355                            d) None of these 

3.29035 − 16874 = ________ 
 
a) 12261                            b) 12061 

c) 12161                            d) None of these 

4. 9998 − 3782 = __________ 
 
a) 6216                          b) 6316 

c) 6226                          d) 6261 

5. 54871 − 24601 has which number at thousand digit? 
 
a) 2                             b) 7 

c) 3                             d) 0 

6. 4272 − 4200 is nearer to ________ 
 
a) 80                            b) 95 

c) 70                            d) None of these 

7. What number should be placed at the position of ‘?’ to make the number 
sentence true? 
 
        7780 < 7795 - ? 
a) 40                            b) 10 

c) 90                            d) None of these 
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8. What must be added to 85574 to make 96232? 
 
a) 10111                          b) 10555 

c) 10558                          d) 10658 

9.On a day 25000 people were expected to see a baseball match but only 
18875 came. How many did not come? 
 
a) 6125                          b) 6020 

c) 6225                          d) None of these 

10. A man had 4000 eggs, he sold 1275 eggs. How many eggs is he left 
with? 
 
a) 2825                          b) 2620 

c) 2625                          d) 2725 

2. Write in column format and find the difference between the 

following numbers 

 

a) 7845 and 4220    b)6402 and 8603 
c) 2232 and 2452    d) 76723 and 89945 

e) 87527 and 82210    f) 99843 and 82634 

 

3. Fill in the empty boxes as appropriate 

   
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